urauLusrnr@3nNkL N3

«12UQL-9ZUMAR-UN23L-19»  Swdljwgnny qudwu pupwgwlwngh
quwhwinnn hwlduwdnnnyh upuwnh

p. Rbpdniy «30» ntlywntdptph 2019p.
dwdp 10:00

Uwubwlgnd thu hwuduwdnnnyp’
Lwfuwguwh’ Upubu Swnuhlwu
Wurpwdubp' Uwintithwunu Ywpnwjwu
Jdwhb Mwqupjuu
Lwpunniqup’ Udpwun Mwwnjwt

1. wdwdwju 2019p.-h nblnbdptiph 24-h guwhwwnnn hwuduwdnnnyh uhuwnh phy 3
wndwliwgpnipwu, «dUQL-4CUMAP-UN29P-19»  swdljwgpny quiwl upwguwlwngh
Jwubwlhgtip Wa Ywnbt Senwdjwth U «Lugpuwnpu» UMC-h ubipyuywgpuws quuwght

wnwywplyubinu Gu.
Uwutiwlygh
g€ I. wudwunwdp ubpluwywgpws quwjht wnwewnplp/npwd
/P 23 | W2 Ywpbu Shnudjwu 330000(tptip hwpynip Gptuntt hwquin) << apwd
QIR 24 ! W/ Ywpbu Sbnwdjwu 1185000(ukly dhjhnudbly hwpynip nipuntuhplg
. hwquwn) << npwd
|

/P 25 | W2 Ywnpbu Sbnwdjwu 188000(dEY hwpynip nypuntunte hwquin) <& npwd

| |
Uwulwlygh J

P wudwunuip ubplujwgpws quwiht wnwownplp/npwd

2P 1 | «Lwjpuwynpu» UNC - 90000 (hutuntu hwqup) << npwd

/P2 | «Lwypuwnpu» UMC 90000 (hutiuntu hwqun) << ppuwd

/P 3 | «Lwjpuwynpun» UNL 80000 (npuntu hwquip) << npwd

P 4 | «Lwjpuwnpuy UNC 80000 ( nipuntt hwquip) << npwd

/P 5 | «Lwjpuwynpun» UNC 50000 (hhuntu hwqun) << npwd

2P 6 | «Lwypuwynpu» UNC 800000 (nup hwpynip hwqunp) £€ npwd

PR 7 | «Lwypuwnpum» UNC 500000 (hhug hwpynip hwquip) << npwd

2P 8 | «Lwjpuwnpu» UNC 500000 (hhug hwnjnip hwquinp) << npuwd

2P 9 | «Lwjpuwynpu» UNLC 400000 (snpu hwpynin hwquip) <€ npuwd

/P10 | «Lwypuwynpun» UNC 480000 (snpu hwpynin nieuntu hwquin) << npwd

P11 | «Lwjpuwnpumn UMC 480000 (snpu hwpynin nieuntt hwquin) <€ npwd
s ] |




P12 | «Lwjpuwynpuns UNC 150000 (4B hwpnip hhunit hwqun) << npud

/P13 | «Lwjpuwnpu» UMC 160000 (dtY hwpynip qupuntu hwgun) << npwd

2/P14 | «Lwjpuwynpu» UNC 824000 (niz hwpynip puwtisnpu hwqun) << npwd

/P15 | «Lwjpuwnpu» UNEC 85000 (ntpunituhhug hwqup) << npwd

2/R 16 | «Lwjpuwynpu» UMNC 30000 (Bpbunit hwqun) £< npwd

/P17 | «Lwjpuwnpuny» UNC 22000 (puwubipynt hwqup) << npwd

/P18 | «Luypuwnpun» UNC 22000 (puwubpynt hwquwp) << npwd

/P19 I «Lwjpuwnpuny UMC 490000 (snpu hwpnip huiuntu hwquip) << nppwd

P20 .: «Lwyjpuwnpu» UNC 7500 (jnp hwquwp hhug hwpjnin) << npuid

YR 21 | «Lwypuwynpu» UNC 5000 (hhug hwqun) << npwd

P 22 | «Luypuwynpuny UMC 5000 (hhug hwqun) << nppuwd |

/P 23 | «Lwjpuwnnun» UNC 380000 (tpbp hwpynip nyeuniu hwqun) << npwd

/R 24 | «Lwjpuwynpu» UNC 1250000 (dkYy dhihntu BpYynt hwpynip hhuniu hwqup)

L npwd

/P25 | «Lwjpuwnpu» UMC 35000 (bpbuntuhhug hwqup) << npwd

/P 26 | «Lwjpuwnpus UMC 50000 (hhuntu hwqup) £ npwd

/R 27 | «Lwjpuwynpuny» UMC 20000 (puwl hwguwn) << npwd

/R 28 | «Lwjpuwnpu» UMEC 250000 (EpYynt hwpynip hhundt hwquip) <€ pnwd

/P 29 | «Lwjpuwynpun» UMC 700000 (jnp hwpjnip hwqup) £< npwd

2/P 30 | «Lwyjpuwynpu» ume 300000 (Epbp hwpnip hwqup) << npwd i
|

2 <hdp punniubiny quwhwwndwu wpryniuptiipp "hwudbwdnnnyp npnatig.

w/U/Q Ywpbit Stinudjwuhtu 23 W 24-pn swhwpwdhuubph dwuny dwtwgk] wnwgoht wnbin
qpwnbgpwsd dwutiwlyhg.

p/ «Lwjpuynpun»UMC-hu 1,2,3,4,5,6,7,8,9,10,11,12,13,14,15,16,17,18,19,20,21,22,25,26,27,28,29 L
30-pn swihwpwdhuubiph dwuny dwuwsk] wnwohtu nbn gpunbgpwé dwutwlyhg.

Cunniugbig npnonud’ Ynnd-3, ntid-0:

3. Cwtdwdnnnyp Sunwdubiph dwupt” << optiuph 10-pn. hnnwdh hwdwdwu'  «24»

nbywbdptph 2019p.-hu wugnpdnipjwl dwdybin Ep uwhdwut) 5 opwgnigwjht op:

6. Uwutwlyhgubiph  Ynndhg ubplujwgws  hwynbpnd - wuhwdwwwwnwufuwuniegniuubp sk
hwjiniwpbipdt;:  <pdp punniubind  Jbpngpwip b wugnpdnipjwt  dwdwuwlywhwnydwdnd

pnnnpubiph  pwgwlwinipnitup,  hwuduwdnnndp  npnpbg  pupwgwlwpgh  wpryniuputiph
wdthnihdwt wpryniupnud wnwownyly Wa Ywpbu SEnwdjwuhu b «Lwjpuwynpun»UNC-hu Yupk



«Q6PUNRY CUUUBLLh UMNPSH, 2PNUUGN2NREBUL, EMhSUUUMNRE3UL B4 Ucuunharah
LELSMPNL» <NUY-h WUNPLLENPh cUUUM LNe UuMr2UUUPLErh a6NLRAEPUUL MUSUULUSHT, Nt

pupwibginip dwubwlght Ybpngjw swithwpwdhuubph hwdwp,ytpntgwy qubipny:

Cunniudbg npnonud' Ynnd-3, ntid-0:

Cwstwdnnnyh bwfuwgquih’ ij/k%% / Upubl Gwnuhljw
5 s W =t
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Cwiuguwdnnnyh wunwdutp’ / 4 Uwnbithwunu Ywpruwljwl

7 dwhb wqupjul

Cwustwdnnnyh pwpunntwp’ 4 Udpwun Mwwynjwl




